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Part way through the movie Good Will Hunting, a janitor (played by Matt Damon) solves a challenging mathematics problem anonymously that is said to have taken Harvard professors two years to solve. Just how difficult was this problem? See if you can solve it yourself… in less than two years 
The Problem: 
Find every homeomorphically irreducible tree of degree 10.         Hint: There are 10 trees.	
Translation to English:  Draw as many pictures/trees as possible with the following features.
· Each picture (tree) contains 10 dots (degree 10) with lines connecting them. Here are two examples:




· Closed loops are not allowed… 
Closed loop not allowed


· Translating/reflecting the tree and bending the branches does not count as a new tree. 					     			      Same tree


 
· No dot can have exactly two lines connecting to it (reducible).


	
	Reducible; not allowed
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